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Unweighted Sample 1635 813 822 454 269 278 248 386 230 458 274 576 54 165 923 357 190 260 489 874 433 308 124 45 524 582
Weighted Sample 1629 810 819 455 265 278 246 385 213 454 280 582 54 160 920 364 185 253 492 871 480 353 127 25 553 596
How confident are you in the Government's ability to deal Gender Age class Highest educational title: Professional activity Socio-economic grade General Elections 2019 Ref2016
with the country's priorities in the next 12 months? z
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Very much confident 6% 8% 4% 2% | 7% 10% 7% | 8% @ 14% 8% 4% 5% 9% 7% 6% 1% 2% 6% 8% 19% 1% 2% 3% 4%  12%
26% 24% 28% | 34% 21% 20% 15%  31% 16% | 32% @ 25% | 25% @ 28% | 23% 27% 26% 22% 20% 26% 28% | 58% 3% 9% 14% | 17% 37%
6% 41% 34% 30%

Fairly confident

Less confident 32% 32% 33% | 25% 35% 41% 40% 29% 31% | 32% | 35% @ 34% 27% 29% 35% 32% 23%  31% 36% 31% 17% 42% 4

Not at all confident 32% 31%  31%  30%  32% 26% 36% 31% 38% | 27% @ 33% | 28% @ 45%  37% 25% 35% 51%  41% 27% 30% @ 5% 52% | 40% @ 40% 44%  17%
4% 5% 4% 9% | 5% 3% 2% | 1% 1% 1% 3% 8% 2% 6% 1% 3% 6% 5% 3% 1% 2% 3% 2% 1% | 4%

Don’t know/Prefer not to say
Total 100% 100% 100% 100% 100% 100% 100% 100% 100%  100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Due to rounding, the sum may be different from 100%

100% 100% 100% 100%  100% 100% 100%
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Unweighted Sample 1635 813 822 454 269 278 248 386 230 458 274 576 54 165 923 357 190 260 489 874 433 308 124 45 524 582
Weighted Sample 1629 810 819 455 265 278 246 385 213 454 280 582 54 160 920 364 185 253 492 871 480 353 127 25 553 596
If there were a General Election tomorrow, would you go Gender Age class Highest educational title: Professional activity Socio-economic grade General Elections 2019 Ref2016
to vote? Use a scale of 1 to 10, where 1 means that you 2
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would not vote and 10 means that you would certainly So | 2 o
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1/2/3/4 22% 17%  27%  33% 20% 19%  21%  14% 10% | 14% 27% 28% 26% | 24% 23% 17% 26%  31% 20% @ 20% 7% 3% 6% 7% 6% 16%
5/6 8% 8% 8% | 9% 6% 8% 5% | 10% 5% 7% 11% 9% 2% 7% 8% 9% 6% 9% 10% 7% 7% 4% 12% 1% 6% 6%
7/8 24% 22% 26% | 29% 34% 23% 18% | 15% 29% | 24% @ 23% | 20% @ 56% | 13% 26% 16% 37% 21% 26% @ 24% @ 24% 30% 19% 43% 22% 28%
910 46% 53%  38% 29% 38% 50% 56% 61% 56% | 55% @ 39% @ 42% 14% 56%  42% 58% 31%  38% 44% 49% 62% @ 63% @ 63% 49%  66% 50%
Don’t know/Prefer not to say 1% 2% 1% 2% 1% 1%
Total 100% 100% 100% 100% 100% 100% 100% 100% 100%  100% 100% 100%  100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Due to rounding, the sum may be different from 100%
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Unweighted Sample 1635 813 822 454 269 278 248 386 230 458 274 576 54 165 923 357 190 260 489 874 433 308 124 45 524 582
Weighted Sample 1629 810 819 455 265 278 246 385 213 454 280 582 54 160 920 364 185 253 492 871 480 353 127 25 553 596
Which political party would you vote for? Gender Age class Highest educational title: Professional activity Socio-economic grade General Elections 2019 Ref2016
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Labour Party 28% 26% 29% 26% 32% 29% 34% 22%  30%  29% @ 31% 24% 31% | 31% 26% 25% 37% 31% 28% @ 26% 5% 82% | 22% 6%  47%  15%
Conservative and Unionist Party 23% 26%  21% | 14%  20% 26% 21% 37% 26% | 30% @ 17% | 22% @ 26%  21% 24% 31% 1%  13% 22% 27% | 74% 4% 1% 3% 19%  44%
Liberal Democrats 7% 9% 5% | 6% 7% 5% 8% | 10% 11% 10% 2% 7% 2% 9% 7% 8% 6% 5% 7% 8% 5% 2% 56% 2% 10% 7%
Green Party 3% 3% 4% | 5% 6% 4% 1% | 2% 6% 4% 3% 2% 8% 4% 4% | 1% 5% 5% 4% 3% 1% 6% 4% 81% 5% 2%
Scottish National Party 3% 5% 1% | 2% 3% 4% 5% | 2% 5% 3% 4% 2% 3% 5% @ 3% 2% 2% 4% 3% 3%
Other party 5% 7% 4% | 6% 4% 5% 6% | 5% 6% 6% 5% 6% 5% 5% 4% 8% 6% 7% 4% 4% 4% 2% 5% 9%
Wouldn't vote 21% 17% 26% | 33% 20% 19% 20% | 13% 9% 12%  28% @ 27% @ 26% @ 24% 22% 15% 26% 30% 19% @ 20% 7% 3% 6% 0% 6% 15%
Uncertain 8% 7% 10% | 8% 7% 9% 6% | 10% 7% 6% 11% 9% 5% 5% 9%  10% 4% 7% 10% = 8% 6% 3% 7% 7% 5% 5%
Prefer not to say 1% 1% 2% 1% 1% 1% 2% 1% 1% 1% 1%
Total 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Which political party would you vote for? Gender Age class Highest educational title: Professional activity Socio-economic grade General Elections 2019 Ref2016
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Labour Party 40% 35% 45% 43% 45% 40% 46% 28% @ 36%  35% @ 50% 38% @ 46%  44% 38% 33% 53% 50% 40% @ 36% 5% 88%  25% 7% | 53% 19%
Conservative and Unionist Party 34% 34% 33% | 24% 27% 36% 29% 48% 31% | 37%  27% | 35% @ 39% | 30% 35% 42% 16%  21% 32% 38% | 84% 4% 1% 3% | 22% 55%
Liberal Democrats 10% 12% 8% 9% 10% 7% | 10%  13% | 13% | 12% 4% 11% 3% | 13% 10% 1% 8% 8% 10% 1% 5% 2% 64% 2% 1% 9%
Green Party 5% 4% 6% 8% 8% 5% 1% @ 2% 7% 5% 5% 3% 12% | 6% 6% 2% 7% 8% 5% 4% 1% 6% 5% 86% 5% 3%
Scottish National Party 4% 6% 2% | 4% 4% 5% % | 2% 6% 3% 6% 4% 4% 6% 4% 4% 3% 5% 4% 3%
Other party 7% 9% 6% [ 12% 6% 7% % | 7% 7% 8% 8% 9% 7% 7% 6% 12% | 9% 10% @ 6% 5% 5% 2% 5% 11%
Total 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Due to rounding, the sum may be different from 100%



